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SA: AR

Al A

Bo: GFEHE S5(LBIYT/LeHT)
ol KA &2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e 4,362,336 3,920,502 441,834
2 104,911
Al 4,257,425
A= SS(Letssy/geey) 790,7%6 832,242 A41,486
2 104,911
Al 685,845
KAl 2= 701,905 735,983 A3%,078
2 104,911
Al 506,994
EER 344,447 370,075 725,628
101 2124t 27,058 26,504 554
VPR EE =R 27,058 26,504 554
OXIAI HITHA 28t LHIFH] 22,553
oIl S 78,8802+ 1212042 16,092
oOR Y EX4Y
78,8802 +1245402 3,866
o203 S 402 2,600,002 2,600
OMATIYASH UMD ESHD 2
L] 2,250,008+ 1813 4,500
201 B2y 198, 175 224,100 225,925
01 AR 22l 51,900 59,000 A7,100
OFIIZ XYM DXM HXSLH HE
23,100, 0002 23,100
OXIZA 2 M2+ B Hay 7Y
2,000,002 2,000
OZAl A2, +A2 2NN 7Y
5,600,002 5,600
OMRARILASH SEHSUD 42 M
1,000,002 1,000
OFBIMI(AZAR) MDY HAS R
2,400,002 2,400
OXIZAl & L E2S M
4,800,0002 4,800
OMRIRISASK ADEROHHS H
1,000,002 1,000
OZRIE U =AD| EH S A2E DA
8,000,002 8,000
OFEIIATA L HIBHE, SHEZA|
A2 AAZA) 4,000,0002 4,000
2 ZZ2H) 146,275 165, 100 18,825
OXIZA FIISDNN LELBR(LE
90,795,000 %,79%
OXIZA BISDNN LELBE(SI)
36,800, 0008 3,800
OBMOID X SAZDXN LERBE
10,000,002 10,000




SA M
BH: UEHE S5(LNDDUY/LHE)
chels XM+ o (cie) 29
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O NLASAH A NLHR OHIZ LS 2
== 3,440,000 3,440
OHItMIZE At=2te| QHN & Qe CHA
e 235 2,640,000 2,640
OXI Al THSAUHAIAE ISAHES
1,600,000 1,600
OMAXLASAH 2HY 2HUZ 01823
1,000,000 1,000
202 04dl 13,000 14,000 21,000
01 2L AL 13,000 14,000 A1,000
OMg%d=, tid=+8 & SR 2=+
9,000,000& 9,000
o224, €=M g= 4,000,000 4,000
203 HR=H] 3,000 3,000
03 A=A 2= 3,000 3,000
O=2Y, €RMA 2= g4
1,000,000 1,000
OMgdds 2T 1,000,000& 1,000
OMe= Mg+ g2Fd
1,000,000 1,000
301 EtE NS 6,300 7,000 AT700
14 JIEt2d=3 6,300 7,000 AT700
OdaEAA & HEEE I X2
6,300,000& 6,300
303 Zal= 5,000 5,000
01 o= 5,000 5,000
O=2 Mag= 243 5,000,000 5,000
306 EG= 11,646 11,326 320
01 &= 11,646 11,326 320
Ost=XYMATRE EAH=
11,646,000& 11,646
308 AtXIEMSOIH 76,268 69,029 7,239
18 SIS0t oA AS A 76,268 69,029 7,239
OXNIL XILENESAIAE RX2=H]
76,267,570& 76,268
405 AtaHE = 4,000 9,930 25,930
01 ML ESFISHI 4,000 9,930 25,930
LES 7Y 2,000,000 *2CH 4,000
2o 141,355 163,742 N22,387
201 Ler23 | 121,855 128,142 6,287
01 At22t2lt] 64,495 56,442 8,053
Oz &&F =8 5,280,000& 5,280
OHMEEHE X3 =2 1,150,000& 1,150
OXILF HCIAIAE ALZZ
10,120,000 10,120




SA M
HE: N 2E(LNDDUN/LHBE)
el NgA 22 (St &)
M- B SRASH) - HRAR - B2 of v e HIDE2
o8& d2X3] #=+2
1,000,000& 1,000
OXIZAl Me DX ME 5,600,000& 5,600
OFJIE & MYAH &Rt 2 M
2,240,000 2,240
OHMExte EXIID| 2235
480,000 480
OMEHMIXNAN £ SAD| EH
1,600,000& 1,600
OogFMLt S0 =HI 1,600,000& 1,600
ONEA MBIC UL 222
1,440,000 1,440
OXNEAl IISAHT HR =58
7,000,000& 7,000
OSZHI(XIYA XM =)
1,600,000& 1,600
OSgHI(MEEHsHAR JISE)
1,000,000& 1,000
OXILNARS(KISSEAIAH) & T-save 2=
2 AAE DRABEY %55 X4
5,040,000& 5,040
OXIZAN 2o ATEN KA
780,000& 780
OMY JtEAHRYR AIAE RXES
7,910,000 7,910
O=BABHIALY ST 24
4,000,000& 4,000
ONMEXE eHs i NUSUMAAY RE24
6,655,000 6,655
2 S52g4l 57,360 71,700 14,340
OSEINN 2 BRI
52,000,000 52,000
OMEX FS&YFT AL X JSX
= 2,000,000& 2,000
OXgE=FU 2 &=l
3,360,000& 3,360
303 Zai= 17,000 17,000
01 Za= 17,000 17,000
OHMEH EHa= ZAS(AIA)
5,000,000& 5,000
OMge d= 58S B
12,000,000 12,000
405 AtatE = 2,500 18,600 16,100
01 Tt =S F=HI 2,500 18,600 A16,100
OMExtg EXIothet 7
2,500,000 2,500
IHESFERDFA T AL 216,103 202,166 13,937
= 104,911




SA M
3 UM &s(gessdy/aety)
e XA =2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 11,192
101 @1A4H| 30,000 30,000 0
= 15,000
Al 15,000
04 JIZtN2Z2XNSE 30,000 30,000 0
OMNE=FEIHA el2dl S
30,000,000 30,000
= 15,000
Al 15,000
201 Ler23| 184,103 170,666 13,437
= 87,911
Al 96,192
01 Al 22| 180,103 163,616 16,487
OMEZEEIH LBL4E
156,103,000 156,103
= 74,911
Al 81,192
OcpEA] ZRERN L A2F 2
15,000,000 15,000
= 8,000
Al 7,000
OMEFEII2 ot Ol AI MBSO A
2 E2= A 5,000,000 5,000
= 3,000
Al 2,000
o=gHl 4,000,000 4,000
= 2,000
Al 2,000
2 ZZ2H| 4,000 7,050 3,050
OXFREU L KL 3,000, 0002 3,000
ouelEREH =8I SN2+
1,000,000& 1,000
202 04l 2,000 1,500 500
= 2,000
01 2LHA LI 2,000 1,500 500
OQINEFEIIAITAL EF 0
2,000,000& 2,000
= 2,000
Hel=g 28 88,851 96,259 AT,408
Hig2tel 50,751 49,619 1,132
201 fet=3| 8,260 10,310 A2,050
01 AtR2t2|HI 8,260 10,310 22,050
0s) 228 7 5,600,000 5,600




SA: AR

3 UM &s(gessdy/aety)
=Rl N2Irg 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUXNANEHE ZelH&EYH 7Y
1,200, 0002 1,200
OMSIAg ASIIE, I SeasE
960,000 960
OJF At ZAHH M= 250,000 x2&H 500
308 XtXIEMSO0IE 38,491 36,309 3,182
13 272+ S0ICHEH 3 AL E 9ISt At 38,491 35,309 3,182
OXMITH Ki2l+UFBAAEY 2]
38,491,000& 38,491
405 KHoHF S| 4,000 4,000
01 ML ESFSHI 4,000 4,000
oxseIsI 7 2,000,000 *2CH 4,000
N2l==g Hg 2l 38,100 46,640 A\8,540
201 et 3| 35,100 43,640 A8,540
01 At22t2l] 18,600 22,140 23,540
OLEZE 23| =2 1,600,000 1,600
Oz &&F =8 5,000,000& 5,000
OMeI+ DXMN I 4,800,002 4,800
OH2I4e R HoAM 25
2,400,000 2,400
OZSHAAE A & BEAHAAE FAL
= 4,800,000 4,800
2 35234l 16,500 21,500 /5,000
ONMELDAIA 2BEES 16,500,000& 16,500
308 T&3 3,000 3,000
01 Z&2 3,000 3,000
OXILAII+Y B4 EAB
3,000,000& 3,000
WERES(HMRM) (Lets3dF/NLHE - HEXH) 3,500,000 3,000,000 500,000
SHXE 3,500,000 3,000,000 500,000
SHXE 3,500,000 3,000,000 500,000
802 grat=JIE 3,500,000 3,000,000 500,000
01 2N2XSeE= 2,000,000 2,000,000 0
O=12x3ttets 2,000,000,000& 2,000,000
02 Al - CHIEXSEHE=S 1,500,000 1,000,000 500,000
OTHIExSEE= 1,500,000,000& 1,500,000
Y 2AZHI(NSR) (O1EHIIE}) 71,580 88,260 /16,680
Jl=3H| 71,580 88,260 /16,680
Jl=23H] 71,580 88,260 16,680
201 er23| 7,200 9,000 /1,800
01 AtR2t2|HI 7,200 9,000 1,800
OSALEIL EU AMRES 7Y
7,200,000 7,200
202 04| 59,520 74,400 A14,880




2A:
X XH- &
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 59,520 74,400 14,880
OZHEHNH 20,0002 x31+8L 122 59,520
203 HF=AH] 4,860 4,860
MU A2 LRSI 4,860 4,860
ORANEgE =AY

405,000+ 123

4,860




